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19) Given f(x) sin®2x, find f'(x) and then find f' (6)
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21) Find an equahon of the tangent line to the graph of y =In(2 + x) +

point (-1, 2).
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22) Find an equation of the tangent line to the graph of f(x) :ln(e"‘: ) at the point (2, -4)
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23) Find an equatlon of the tangent line to the graph of y =log, x at the point (81, 4).
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24) Find the second derivative of y = 5x° — 7x? + 2x.
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26) Two functions, f and g, are continuous and differentiable for all real numbers. Values of the
functions and their derivatives are shown in the table.
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27) Find an equation of the tangent line to the graph of f(x) = 2X = 11 at the point (-1, 2).
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to recognize this formula, find the f(x) and then find f(x) on your own, they will not be specifically
asked for on the test...you have to see the formula and know what to do! This formula was learned in
section 3.1)
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30) What is the average rate of change of y with respect to x from x = 2 to x = 5 when y = x* — 3x?
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32) Find the slope of the tangent line to the graph of 3x? - y* =11 at the point (1, -2).
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33) An extension ladder, 17 feet in length, is leaning against the side of a vertical wall. [f the foot of

the ladder is sliding away from the wall at a rate of 2 feet per second, how fast is the top of the ladder
dropping when the foot is 8 feet from the base of the wall?
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34) The circular ripple caused by dropping a stone in a pond is increasing in area at a constant rate of
20 square meters per second. Determine how fast the radius of this circular ripple is inc reasing when
the area of the circular region is 257 square meters.
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35) The velocity of a particle moving along the x-axis is modeled by a differentiable function v, where
the position x is measured in meters, and time t is measured in seconds. Selected values of v(t) are
given in the table above.

a) What is the velocity of the particle at t = 20 seconds?
—0 w ,5
b) Is the particle moving right or left at t = 32 seconds?
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c) Find the average acceleration ¢f the particle fromt=0to 1 = 8 seconds.
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